EARAROBREBRT —5 XN—ZXBISH—F 2022118218 (B) miEflle

md\ﬁ?iﬁf:"] C1m Y>3%— ‘(fﬁ} " ‘I%EH?’JF&] - | & 1o wE
[AE%] 1% :1,600,000  ~ 23&:560,000  337%:320,000H . 43#&:240,000 5 & :160,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
<= 3 | ®IR 1:29.7 1-1-1-1 [39.2| - 1 481 | IRIRE GERD)
115 6| dFFv+I— e 54.0 =) g | ZV—ITOR )
RFLSIAIY B IAVYRNFD BRI
S ~ i 3 | BEE 1:30.0 7-8-4-2 |38.8| — 4 | 463 |IERR CHT)
20811 FIIVTAIv ALY 54.0 a1/ 1) | EPEX
RiboO—ILR B:Yyva4VbDYaY W EZ
o = =k—8A : -5-6- - EEET (At
311 | YA RYLSA 3| FE 1(/%3—? Ao 3.0 : (4&1) ﬂﬂﬁﬁ%{% o
R:XZ27V0O #:IL—RS5 o 2B
I~ 5 | HOEEFOE 1:30.4 3-3-3-3 [39.8] - 10 461 | BRSNIZR CHERD)
AN 3| TFIY " 56.0 @ ¢9) | BIIEST
RiPRIAVL—Y B:TSvVa94ATFRTF4Z— T %
R 4 4 | TOHFEE 1:30.6 8-7-7-5 |39.2| - 5 477 | FEAEE CB)
RNRMOD B:A—5— AR5
= 4 3 | EHS 1:30.7 12-12-10-6 | 38.4 | — 8 458 | 3RER (#6i8)
6|7|10| T7ATO—=5— 5.0 s e | vtz
R:o07% B:759—/)ND— HREt EKS
~, 5 ~ 5 | BAES 1:30.9 10-10-9-8 |38.9| — 11 | 493 | SHABESC (AAD)
715]5 D s 56.0 (1172 (5) | LLAEER
R:xAIZI7—R B:DVI—E—FR bohiule ]
—_ )= ft 5 | SEF 1:31.2 11-11-11-10 38.9 | — 9 471 | FOZF (HA)
EHB A—N=0=2 54.0 a1/ e |EEHIE
RAX—KT77IVaY &:o0/9357 RERUS
91812 FYINTF1TR 4 5 iﬁ‘g{% 1:(331).8 6-6-8-11 | 40.3| — 7 (5:); Egg: ()
RYVRAT4 TSR BRUTFAAVITAR ML &&
® . FERER : -2-2- - FEAER (A
1017| 9 |O—RFTAHFIL s 54.0 1'(332)"1' A R 6 ?:)27) ;Jr_\ﬁlﬂ f
RIEVFOVY BXATARPL—Y BB
. o HE : -4-5- - IR Al
", AN "3RS by | TN R
R:ADTVTIV—RY B:h—tYLVT S| Es
Y — ), R T — B3 | EWEER 1:33.0 9-9-12-12 | 41.0 | — | 12 | 495 |HO=E (&)
17208 7| 3—ILFIT—-X 5.0 2 1/2) 13) | ERES
R:T—IVRI—R B:F7VTFLI— Wing Farm
@ 11— —®BIEfI
13—3F— 6.,9,3,1,2,12,11,4,7,5,8,10
23— — 6.,9.3,2,1,12,4,11,7,5,8,10
30—7— 6,9,3,11,2,1,4,12,5,10,8,7
43— — 6,11,3,1,4,10,9,5,2,8,12,7
o ILRE
B B 6 2204 JA R 6-11 650/ % 5E 5-8 680M4 3EE 1-6-11 1,700H
7B B 6 1309 1-6 220 B 5-8 1,010 3EH 6-11-1 6,690M
1 2604 -1 490 /B & 6-11 1,370
1 140 =51 6-11 1,750

ABIC OV TRUTEREERRODDZE. THRIIZEL.



